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’ 100kN/mM##BZ % 1.00/ 000 ~ 283 144.84|3mZEHBZB| - ~ - - -| 100kN/MZE#B 2% 1.00| 10.64 ~ 23.70 144 84|3m%i#BZ % -~ - - -
ZThES 1.00| 2.83 ~ 10.62 100.00] Zh st | 0.00 ~ 10.62| 2.80 14.99 ZTh LSt 1.00] 500 ~ 10.64 100.00| #h st | 500 ~ 23.70| 2.80 14.99
9 100kN/mM#%# 8% % 1.00/0.00 ~ 3.00 147.72|3m%#8% 5| 000 ~ 0.14| 3.08 16.46| 100kN/m%# 2% 1.00| 10.54 ~ 26.01 147.72|3m%#B% 5| 25.00 ~ 26.01| 3.08 16.46
ZTh LS 1.00/ 3.00 ~ 10.79 100.00] #h st |0.14 ~ 10.79] 3.00 16.05 Zh LS 1.00] 500 ~ 1054 100.00| #hlist | 5.00 ~ 25.00| 3.00 16.05
3 100kN/mM#%# 8% % 1.00/0.00 ~ 290 145.96|3mZ#BZB| - ~ - - -| 100kN/iZi#8 % % 1.00| 10.64 ~ 28.10 145.96|3m%i#B% 5 -~ - - -
ZhLS 1.00/ 290 ~ 10.68 100.00] Zh st | 000 ~ 10.68] 2.95 15.78 Zh LS 1.00] 500 ~ 10.64 100.00| Zhlist | 500 ~ 28.10] 2.95 15.78
4 100kN/mM#%#BZ % 1.00/ 000 ~ 1.91 129.38|3mZi#BZRB| - ~ - - -| 100kN/iZi#8 % % 1.00| 12.32 ~ 28.90 129.38|3m%i#B% % -~ - - -
ZThLS 1.00] 191 ~ 969 100.00] #hLlst [000 ~ 9.69| 2.72 1454 Zh LS 1.00] 500 ~ 1232 100.00| #hlust | 5.00 ~ 28.90| 2.72 1454
5 100kN/mM#%# 8% % 1.00/ 000 ~ 1.74 126.68|3mZi#BZDH| - ~ - - -| 100kN/iZi#8 % % 1.00] 1219 ~ 2449 126.68|3m%i#B% 5 -~ - - -
ZTh LS 1.00/1.74 ~ 952 100.00] #n Lt | 000 ~ 952| 242 12.95 Zh LS 1.00] 500 ~ 12.19 100.00| #nList | 500 ~ 2449| 242 12.95
6 100kN/mM#%# 8% % 1.00/ 000 ~ 288 145.62|3mZ#BZDH| - ~ - - -| 100kN/iZi#8 % % 1.00| 1056 ~ 26.10 145.62|3m%i#BZ 5 -~ - - -
ZhLS 1.00| 2.88 ~ 10.66 100.00] Zh st | 0.00 ~ 10.66] 3.00 16.03 Zh LS 1.00] 500 ~ 1056 100.00f #hlist | 5.00 ~ 26.10] 3.00 16.03
7 100kN/mM##BZ % -l -~ - -|amzEZB| - ~ - - -| 100kN/MZE#BZ 2 - -~ - -|3m%EiEZ S -~ - - -
ZnLst 1.00{ 0.00 ~ 472 58.83| ZnList |0.00 ~ 472 1.97 10.53 Zzh st 1.00f 500 ~ 550 58.83] #n Ly | 500 ~ 550 1.97 10.53
8 100kN/mM##BZ % -l -~ - -|amzEZB| - ~ - - -| 100kN/ %22 - -~ - -|3m%EiEZ S -~ - - -
ZnLst 1.00{ 0.00 ~ 4.71 58.76] ZnList |0.00 ~ 471 1.92 10.28 Zh st 1.00f 500 ~ 5.30 58.76] Zn Ly | 500 ~ 530 1.92 10.28
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
Zh LS ~ Zh s ~ Zh LS ~ Zh LS ~
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ ZhUs ~ Zh LS ~ Zh LS ~
100kN/m##BZ % ~ ImEHEZD ~ 100kN/m%#EZ % ~ ImEEZD ~
Zh LS ~ Zh s ~ Zh LS ~ Zh LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ Zh LS ~
100kN/mM%#E% % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
LS ~ ZHNLS ~ ZThLLst ~ ZTHLS ~ |
=EFR



